MCV4U: Calculus and Vectors, Grade 12, University Preparation
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Ifh(x) = f(x)g(x), then h'(x) = f'(x)g(x) + f(x)g'(x)

"(x) = flx)glx)-fx)g' (x)

If h(x) = ) (60’

If h(x) = f(g(x)), then h'(x) = f'(g(x))g'(x)

If h(x) = 9™, then h'(x) = e9®) g'(x)

If h(x) = b9®) then h'(x) = b9 g'(x)Inb

If h(x) = sin(g(x)), then h/(x) = cos(g(x)) g'(x)

If h(x) = cos(g(x)), then h'(x) = — sin(g(x)) g'(x)
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Vector Projection of @ onto b: > b
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(X, Y, Z) = (xOn Yo, ZO) + t((l, b; C)
(xr y; Z) = (xOr .)_/0' ZO) + t(a: b: C)-+ S(dr e, f)

X = xo + at + ds, Y = Yo + bt + es, z=2zog+ct+fs

Ax+By+Cz+D =0
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a-b=ldll|b]| cosé

X=X =y_y0 =5_50

u, Uy u,

X= xO +tllx
y=Yyo+u,
I=1Z +Iu:

X =Xg +SUy +1v,
Y=Yo+su, +1v,

Z=2Zg+Su, +1v,



